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Which of the following is in indirect speech? C)

a) Doing so b) Your words | ¢) The request | d) Please allow | The request
will also bring | may hurt was made to him to do| was madeto
benefits to you | them. let the wind whatever  he | let the wind
from the blow slowly. wants in the | blow slowly.
company. company.

Select the correct sentence by reordering the following words:
Action/please/expeditiously/attached/the/email/find/and/the/with/n

d)

ecessary/proceed.

a) The b) Proceed ¢) Please find | d) Please | Please find the
attached email | with necessary | the attached find the attached email
please find action and the | email attached email | and proceed
with expeditiously | expeditiously | and proceed with the
expeditiously | attached find and proceed with the necessary
proceed action | the email action the necessary action

and the please. necessary action expeditiously.
necessary. with. expeditiously.

Read the following sentence: The extremely tall man carefully d)
placed the fragile vase on the wobbly table.

A few potential qualifiers in the sentence are as follows:

A. Tall

B. Extremely

C. Fragile

D. Carefully

Choose the correct answer from the options given below:

a) Aand |b) Aand |C) Cand |d) B and B and D only
B only C only D only D only

Given below are two statements: one is labeled as Assertion (A) and C)

the other is labeled as Justification (J).

A: Assertion (A): A qualifier is a word that limits or enhances
another word’s meaning in a sentence or a statement.

B: Justification (J): However, qualifiers cannot affect the certainty
and specificity of a statement.

Choose the most appropriate answer from the options given below:

a) Both (A) b) Both (A)|c)(A)is d) (A) is not
and (J) are and (J) are | correct but (J) | correct but (J)
correct and (J) | correct but (J) | is not correct. | is correct.

(A) is correct
but (J) is not
correct.

is the correct |is not  the
explanation of | correct
(A). explanation of
(A).
Match the antonyms: b)
| A. Extol | i. Severe
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B. Repulse 1i. Agree
C. Dissent iii. Attract
D. Mild iv. Criticize

Choose the correct answer from the options given below:

a) a-iv, b- | b) a-iv, b-iii, ¢- | ¢) a-ii, b-i, c- d) a-iii, b-1, c- | a-iv, b-iii, c-ii,
1, c-iii, d-ii. ii, d-i. iii, d-iv. i, d-iv. d-i.
6 How many days Pragyan, the moon rover of India’s Chandrayan III b)
mission to moon explored the surface of the Moon?
a) 12 b) 14 c) 15 d) 17 14
7 Who adopted the Constitution of India on 26™ November 1949? C)
A. B.R. Ambedkar as chairman of the constitution drafting
committee
B. Parliament of India
C. The Constituent Assembly of India.
D. Cabinet
Choose the correct answer from the options given below:
a) Bonly |b) Band |c)C only d)Aand D C only
C only only.
8 Which states/teams played the final match of Santosh Trophy 2024 C)
held in Itanagar?
a) Gao FT Vs | b) Manipur Vs | c) Services Vs | d) Kerala Vs Services Vs
Manipur Services Gao FT Delhi Gao FT
9 Match the following: a)
A. Typhoid I. Bacteria
B. Malaria ii. Virus
C. Hepatitis iii. Worms
D. Ringworm Iv. Protozoa
Choose the correct option:
a) A-i, B- | b) A-ii, B-i, C- | ¢) A-iv, B-i, C- | d) A-i, B-ii, C- | A-i, B-iv, C-ii,
iv, C-ii, D-iii. | iv, D-iii. i1, D-iii. iv, D-iii D-iii.
10 Given below are two statements: one is labeled as Assertion (A) and d)

the other is labeled as Justification (J).

A: Assertion (A): Solar eclipses occur twice during a month but it is
not always observed.

B: Justification (J): The solar eclipse occurs on the day of the new

moon.

Choose the correct answer from the options given below:




a) Both (A) b) Both (A) c)(A)is d) (A) is not (A) is not
and (J) are and (J) are correct but (J) | correct but (J) | correct but (J)
correct and (J) | correct but (J) | is not correct. | is correct. is correct.
is the correct is not the
explanation of | correct
(A). explanation of
(A).
11 The smallest state in Northeast India in terms of area is: C)
a) Manipur b) Nagaland C) Tripura | d) Mizora | Tripura
m
12 What is the full form of ChatGPT? b)
a) Chat b) Chat c¢) Chat d) Chat Chat
Generation Generative Generational Generational Generative
Pre-Trained Pre-Trained Pre-Trained Pre-Trained Pre-Trained
Tool. Transformer. Technology. Transformatio | Transformer.
nal-tool.
13 The shape of the earth can be best described as c)
A Oblate sphere
B. Sphere
C. Geoid
D. Circle
Choose the correct option:
a)Aand B b) B only c) C only d) C and D | Conly
only only
14 Given below are two statements: one is labeled as Assertion (A) and | ¢)
the other is labeled as Justification (J).
A: Assertion (A): The Konark Temple in Odisha has seven stone
horses, depicting them pulling the sun chariot, and this temple is
known as the "Black Pagoda."
B: Justification (J): Because of the blue stones used as construction
material for the temple.
In the light of the above statements, choose the most appropriate
answer from the options given below:
Choose the most appropriate answer from the options given below:
a) Both (A) b) Both c)(A)is d) (A) is not (A) is correct
and (J) are (A) and (J) are | correct but (J) | correct but (J) | but (J) is not
correct and (J) | correct but (J) | is not correct. | is correct. correct.
is the correct is not the
explanation of | correct
(A). explanation of
(A).
15 Match the following: C)

A. Hydrofluorocarbons (HFCs)

1. Ozone-depleting gas

B. Hydrochlorofluorocarbons (HCFCs)

i1. Greenhouse gas

C. Chlorine gas

1i1. Electric bulb




D. Argon iv. Irritation in eyes

Choose the correct answer from the options given below:

a) A-i, B-ii, C- | b) A-ii, B-i, C- | ¢) A-ii, B-i, C- | d) A-iv, B-i, A-ii, B-1i, C-v,
iii, D-iv. i, D-iv. iv, D-iii. C-iii, D-iv. D-iii.
16 Select the number that must come after 49 in this number series: 25, d)
28,31,35,39,44,49, ?
a) 53 b) 52 c) 54 d) 55 55
17 If a man purchases a T-shirt from a retail shop for 400 rupees and | a)
sells it to his friend for 550 rupees, then how much profit percentage
does he get?
a) a profit b) a profit ¢) a profit C) aprofit | a profit
percentage of | percentage of | percentage of | percentage of | percentage of
37.5%. 35.5% 30.5% 27.5% 37.5%.
18 The least prime number is: a)
A 2
B. 3
C. 1
D. 0
Select the correct option:
a) Aonly |b)B only ¢)CandAonly | d) D only A only
19 Consider the following two arguments: b)
A: Statement I: Yes, they are places from where international
criminals operate.
B: Statement II: No affluent foreign tourists will have no place to
stay.
Select the correct option:
a) Argument I | b) Argument II | ¢) Both d) Argument II | Argument II is
is strong. 1s stronger Arguments | is weak. stronger than
than argument | and II are very argument .
L. strong.
20 Glass: Lip :: Bird: ? C)
a) Leak b) Grass c¢) Beak d) Teak Beak
21 If the mean of x, x + 2, x + 4, x + 6, and x + 8 is 6, then the value of b)
X 1s:
a) l b) 2 c)3 d)4 2
22 For a frequency distribution data table of students and marks a)

obtained in a class test are listed below:

Number of students 3 5
Marks obtained 5 6

O | —

The average mark obtained by students is:




a)6 b) 5 c)7 d) 8 6
23 Which of the following graphical representations of data assigns an a)
area proportional to the frequency of the given continuous frequency
distribution?
A. Histogram
B. Frequency Polygon
C. Ogive
D. Percentile Curve
Select the correct option:
a) A only b) B only c¢) C only d) B and D A only
only
24 Match the following: b)
A Circle i. One dimensional diagram
B. Multibar ii. Two dimensional diagram.
C. Ogive iii. Diagram represented by a
sector of a circle.
D. Pie chart iv. Use to determine median.
Select the correct option:
a) A-iii, B-i, b) A-ii, B-i, C- | ¢) A-i, B-ii, C- | d) A-iv, B-iii,
C-iv, D-ii iv, D-iii. iii, D-iv. C-i, D-ii. A-ii, B-1, C-iv,
D-iii.
25 For any set of variables: a)
a) Arithmetic | b) Arithmetic | ¢) Arithmetic | d) Arithmetic | Arithmetic
mean > | mean < | mean < | mean > mean >
geometric geometric geometric geometric geometric
mean > | mean < | mean > | mean < mean >
harmonic harmonic harmonic harmonic harmonic
mean mean mean mean mean
26 What does Research Design constitute of? d)
a) Variables. b)Target c)Highly d)Plan or Plan or
Population Specific Plan. | strategy of | strategy of
shaping shaping
research. research.
27 Given below are two statements: One is labelled as Assertion (A) b)

and the other is labelled as Justification (J)
Assertion (A) Primary data gathering is not free from the subjective
views researchers nor informants.
Justification (J) lack of training in researchers can lead to errors in

data collection

a)Both
assertion (A)
and
Justification
(J) are false.

b)Both
assertion (A)
and
Justification
(J) are true,
and
Justification
J) is the
correct

c)Assertion
(A) i1s true, but
the
Justification
(J) is false.

d)Both
Assertion (A)
and
Justification
(J) are true,
but the
Justification
(J) is not the
correct
explanation of

Both assertion
(A) and
Justification
(J) are true,
and

Justification
J) is the
correct

explanation of
assertion (A)




explanation of the assertion
assertion (A) (A).
28 A null hypothesis is a)
a) when there | b) the same as | c¢) subjective in | d) when there | when there is
is no | research nature is  difference | no difference
difference hypothesis between the | between the
between  the variables variables
variables
29 Arrange the following steps of research in correct sequence: b)
1. Identification of research problem
2. Listing of research objectives
3. Collection of data
4. Methodology
5. Data analysis
6. Results and discussion
a)l -2-3-4]1b)1-2-4-3|c2-1-3-4|d)2-1-4-3|1-2-4-3-
-5-6 -5-6 -5-6 -5-6 5-6
30 Match List I with List II C)
List I List IT
References Format
A.APA Style i. Sapolsky, R. M. Behave: The biology of
humans at our best and worst. Penguin
Books,2017.
B Harvard Style iiSapolsky, R. M. Behave: The biology of
humans at our best and worst. Penguin Bopks,
2017.
C MLA 9™ Edition iii.Sapolsky, R. M. (2017). Behave: |The

biology of humans at our best and waorst.
Penguin Books.
iv.Sapolsky, R. M. (2017) Behave: The biology
of humans at our best and worst: Penguin

D Chicago Style

Books.
a) A-LB-ILC- | b) A-1I,B- | ¢) A-IILB- | d)A-IV,B-I,C- | A-II,B-1V,C-
1I1,D-1V 1I1I,C-1V,D-I IV,C-11,D-1 I1,D-III 11,D-1
31 Which one of the following is a non-probability sampling method? d)
a)Simple b)Stratified ¢)Cluster d)Quota Quota
Random Sampling Sampling Sampling Sampling
Sampling
32 A College principal conducted an ethnographic probe into the d)
problems faced by tribal students. Which method for sampling will
be most appropriate?
a)Random b)Stratified c¢)Cluster d)Systematic Systematic
sampling. sampling. sampling. sampling. sampling.
33 The concept of paradigm was foregrounded by? C)
a) Peter | b) Von Thunen | c) Thomas | d) John K. | Thomas Kuhn
Haggett Kuhn Wright




34 Which of the following is not a characteristic of a good achievement C)
test?
a)Reliability | b)Objectivity | c)Ambiguity | d)Validity Ambiguity
35 Research is not considered ethical if it: c)
a) Tries to | b)Does not | c)Does not | d)Is not of a Does not
prove a | ensure privacy | investigate the | very high | investigate the
particular and anonymity | data standard. data
point. of the | scientifically. scientifically.
respondent.
36 Which are the CORRECT variables for H-index d)
A Publisher level metric.
B Measures Productivity
C Author level metric
D Citation Impact
a)Aand B ‘ b) Dand A ‘ c)Band D ‘ d) B,C and D B,Cand D
37 Given below are two statements: One is labelled as Assertion (A) b)
and the other is labelled as Justification (J)
Assertion (A)The term “Research Methodology” refers to The
theoretical paradigm for data collection, analysis and interpretation
Justification (J) It also refers to the methods used in data collection
and analysis.
a) BothAandJ | b)BothAandJ | c)A is correct | d)A is not| BothAandJ
are correct and | are correct and | but J is not | correct but J is | are correct and
J is a correct | J is not correct | correct correct J is not
explanation of | explanation of correct
A A explanation of
A
38 Match List I with List 1T d)
List I List IT
Terms Meanings
A. Google Scholar 1. digital library of academic
journals
B. JSTOR ii. indicator of impact and
quality of the journal in the
academic community
C. Science Direct iii. focused on specific subsets
of academic and scientific data
D. Scopus Index iv. leading source for scientific,
technical, and medical research
A) A-1, B-IL, | B) A-II, B-III, | C)  A-IV,B-| D)  A-IILB- | A-IIL,B-I,C-
C-I11, D-1V. C-1V, D-1. 111,C-1,D-11 I,C-1V,D-1 IV,D-1
39 In which of the following there is greater flexibility in both the a)
method and process?
a)Ethnography | b)Descriptive | c)Experimenta | d)The Ethnography
and survey and | 1 and | theoretical and
Phenomenolog | Impact Studies | Observation paradigm for | Phenomenolo
y based studies | data collection, gy
analysis  and
interpretation




Suppose you want to investigate the working efficiency of b)
nationalised bank in India, which one of the following would you
follow?

a)Area b) Multi-stage | ¢) Sequential | d) Quota | Multi-stage
Sampling Sampling Sampling Sampling Sampling
In sampling, the lottery method is used for d)
a) b) Theorisation | ¢) d) Randomisatio
Interpretation Conceptualisat | Randomisation n
ion
Identify the sampling issues that are problematic in online surveys: d)
A Many people use more than one service provider.
B. Every person has only one (unique) email address.
C. A household may have one computer but many users.
D. Internet users are a biased sample of the population

Choose the correct answers from the options given below:

a)A, B and C | b) B, Cjlo) A, B|d C and | CandD only
only. and D only. and D only. D only

The timeframe in which the study explores a situation or a problem a)

is called the:

a) Reference b) Age c) Longitudina | d) Retrospecti | Reference
Point 1 ve time Point

In which type of qualitative research design, individual stories to d)

describe the lives of the people will be explored?

a) b) Grounded | ¢) Symbolic | d) Narrative Narrative

Ethnography Research interaction Research Research
Theory

Research is conducted to d)

A. Generate new knowledge

B. Not to develop a theory

C. Obtain research degree

D. Reinterpret existing knowledge
Which of the above are correct?

a) LIl &I DILII &IV [co)ll, 1 &Il dl, &IV L &IV

The main types of validity encountered in research design and d)
methodology are:

A Internal

B External

C Construct

D Statistical Conclusion

Choose the correct answer from the options given below:

a)AandConly | b) A,C and D |c) B,C and D |d) A,B,C and | A,B,Cand D

only only D only only
What is the mean deviation for the following data: 6, 8, 10, and 12? C)
a) l b) 1.5 c)2 d)2.5 2




48

Which among these is not a characteristic of Research Design?

b)

a)Regularity b) Subjectivity | c¢)Verifiability | d)Universality

Subjectivity

49

Match List I with List 11

List I List 1T

Terms Meanings
A. Action Research i. Scientific research aimed at
improving scientific theories for
better understanding and prediction
of natural or other phenomena.
B. Conceptual Research | ii. Research based on direct
observation and measurement by
researcher.
C. Fundamental Research | iii. Research  for immediate
application
D. Empirical Research iv. Research by observing analyzing
existing data on the topic

d)

a) A-I, B-IV, |b) A-II, B-IIL, | ¢) A-IV, B-IL, | d) A-III, B-IV,
C-11, D-TIL. C-1D-1V. C-11, D-1. C-1, D-IL.

A-IIL, B-1V,

C-I, D-1L

50

An entry that directs the reader from one heading to another is
called:

(A) Added Entry

(B) Main Entry

(C) Analytical Entry

(D) Reference Entry

d)

a) C [b) D o) A |d B

B

51

Who first discovered radiocarbon dating methods?

b)

a) Willia | b) Willard | ¢) Lewis |d) Ian
m Robson Libby Robert Hodder
Binford

Willard Libby

52

The Mahabharata comprises how many Parvas (books)?

d)

a) 15 b) 16 o) 17 d) 18

18

53

Read the following sentence:

A. The earliest references to India in Greek texts date from the
5th century BCE andtheir frequency increases thereafter.

B. Yijing, a 10th-century Chinese traveler, lived for 20 years
in the great monastery of Nalanda.

C. Abu Rihan or Al-Biruni wrote 180 books but only 40 books
survive.

D. Tahqig-i-Hind states that the Gupta era began 111 years
after the beginning of the Shaka era

Choose the correct answer from the options given below:

a) Aand |b) Aand |cC) Cand |d) B and
C only B only D only D only

A and C only

54

Type Questions here for matching pairs:

b)
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A. Dendrochronology

1. Inorganic materials, e.g.,
pottery, terracotta, burnt flint.

B. Thermoluminescence

tropics

ii. Timber in areas outside the

C. Potassium-Argon

iii. Volcanic rocks older than
about 100,000 years.

D. Uranium series

iv. Rocks rich
carbonate.

in calcium

Choose the correct answer from the options given below:

a) A-i, B- | b) A-ii, C) A-ii, d) A-iv, A-ii, B-1, C-iii,
i1, C-iii, D-iv. | B-i, C-iii, D-iv | B-i, C-iv, D-iii | B-iii, C-i, D-ii | D-iv
55 Which of the following describes the term Visthi: C)
a) Revenue | b) Military | ¢) Forced | d) Tax on gold | Forced labour
official officer labour mining
56 Which of the following statements are true in relation to Buddhist d)
and Jain literature?
A The earliest Buddhist literature was written in Prakrit.
B. Buddhist texts began to be written in Pali from around
second century CE.
C. Jataka tales are part of Buddhist literature.
D. Jain literature was written in Prakrit and finally compiled in
sixth century CE at Valabhi.
a)A,Band C|(b) All are|c)B, Cand D |d) Only C and | Only C and D
are correct correct are correct D are correct are correct
57 Given below are two statements: one is labelled as Assertion A and a)
the other is labelled as Reason R.
Assertion A: The Indus Valley Civilization people probably had a
theocratic form of government.
Reason R: There is so far no evidence of use of arm force in the
Indus sites.
Select your answer from the codes given below:
a) Both A and | b) Both A and | c¢) A is true but | d) Ais false but | Both A and R
R are correct | R are correct | R is false. R is true. are correct and
and R is the | but R is not the R is the
correct correct correct
explanation of | explanation of explanation of
A. A. A.
58 Who among the following remarked that the unparalleled continuity a)
of the government of the Indus Valley Civilization suggests“the
unchanging tradition of the temple” rather than ‘“the secular
instability of the court”.
a) S. Piggot b) E. Mackay |c) Sir R. E.|d) V. Gordon S. Piggot
Mortimer Childe
Wheeler
59 Match List-1 with List-1I d)
List-1 List-1I1
A Suta |.Chamberlain
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B. Sangrihitri

.Dicing superintendent

C. Akshavapa .Treasurer
D. Kshattri [.Charioteer
a) A-1, B-II, C- | b) A-III, B-1V, | c) A-III, B-1V, | d) A-1V, B-1II, | A-IV, B-III,
111, D-IV C-1, D-1I C-I1, D-1 C-1I, D-1 C-11, D-1
60 Which of the following statements are true? b)
A. Some of the Mahajanapadas were monarchical and some
republic.
B. The republics were mostly situated in the foothills of the
Himalayas.
C. The Sakyas and the Lichchavis were examples of republics.
D. Examples of single tribe republics are Sakyas, Koliyas,
Mallas and Yadavas.
a) A and B are | (b)A, B and C | c) A, B and D | d) All are true A,Band C
true are true are true are true
61 Given below are two statements: one is labelled as Assertion A and
the other is labelled as Reason R. a)
Assertion A: The Indo-Greek ruler Menander’s period is considered
a watershed in numismatics.
Reason R: Menander was the first to issue coins in large numbers
which, unlike the PMCs, could be attributed to kings with certainty.
a) Both A and | b) Both A and | c¢) A is true but | d) Ais false but | Both A and R
R are correct | R are correct | R is false. R is true. are correct and
and R is the | but R is not the R is the
correct correct correct
explanation of | explanation of explanation of
A. A. A.
62 What is the meaning of the term Agrahara?
¢)
a) A revenue | b) A revenue | c) A village or | d) A Mauryan | A village or
village during | village given | area of land | revenue area of land
the Mauryan | free to military | granted to | official at granted to
period officials by the | brahmans provincial brahmans
Gupta rulers level
63 On the basis of the Sangam texts, which of the following statements d)
relating to the early state formation in south Indiaaretrue?
A Tinai was the fertile riparian plain.
B. Marutam referred to the hilly backwoods.
C. Kurinchi was the pastoral tracts.
D. Neital means the coastal region.
a)Aand B are | (b) Only C is [c) Band D are | d) only D is | onlyD is true
true true true true
64 Given below are two statements: one is labelled as Assertion A and

the other is labelled as Reason R.
Assertion A: Kanishka patronized Buddhism. The fourth Buddhist
council was convened at Kashmir during his time.
Reason R: Kanishka supported Buddhism for political reasons as
indicated by his coins.
Choose your answer from the options below:

a)
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a) Both A and | b) Both A and | c¢) A is true but | d) Ais false but | Both A and R
R are correct | R are correct | R is false. R is true. are correct and
and R is the | but R is not the R is the
correct correct correct
explanation of | explanation of explanation of
A. A. A.
65 The system of which of the following kingdoms is sometimes d)
described as segmentary state model?
a) Maurya ‘ b) Pandya ‘ c¢) Gupta ‘ d) Chola Chola
66 Which of the following statements related to Roman trade in the d)
post-Maurya period are true?
A. The discovery of the monsoon winds helped commercial
navigation.
B. The rise of the Roman empire gave impetus to India’s trade
with the western world.
C. Exports from India included pepper, pearls, ivory, silk,
diamond, precious stones, etc.
D. The Roman historian Pliny lamented the loss of Roman gold
to imports from India.
a) A, Band C | (b)B,Cand D | c) Only C and | d) All are true
are true are true D are true All are true
67 Who of the following translated the Gita into English in 17847 a)
a) Charles | b) William | ¢) N.B. | d) T.B. Charles
Wilkins Jones Halhead Macualay Wilkins
68 In relation to the Six Systems of Salvation (Saddarsana)ofthe Indian a)
philosophical thought during the early Christian era, which of the
following pairs are correctly matched:
List-I (System) List-II (Founder/Proponent)
A. Nyaya .Aksapada Gautama
B. Vaisesika .UlukaaKanada
C. Sankhya Kapila
D. Mimamsa [.Jaimini
a) A-1, B-II, C- | b) A-II, B-III, | c) A-III, B-IV, | d) A-1V, B-I,| A-l, B-II, C-
111, D-1V C-1V, D-1 C-1V, D-1 C-I1, D-I1I 111, D-IV
69 Which of the following statements relating to the classical Sanskrit b)
poetry is false?
A The earliest surviving work on Sanskrit poetry is
Asvaghosa’sBuddhacharita.
B. Asvaghosa was a great Sanskrit grammarian.
C. Dhvani (“reverberation”) is an important element in Sanskrit
poetry.
D. Alamkara (ornamentation) is one of the most important toll
of a Sanskrit poet.
a) A and | (b) Only B is |¢) Only C is|d) Only D is Only B is
B are false false false false false
70 Given below are two statements: one is labelled as Assertion A and C)

the other is labelled as Reason R.
Assertion A: According to Megasthenes, there were no slaves in
India.
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Reason R: Workforce was rationalized through the varna and jati
divisionshence slavery was absent in early India.

Choose your answer from the options given below:

a) Both A and | b) Both A and | c) A is true but | d) Ais false but | A is true but R
R are correct | R are correct | R is false. R is true. is false.
and R is the | but R is not the
correct correct
explanation of | explanation of
A. A.
71 Who was the author of Prithviraj Raso? c
a) Tulsidas b) Harishavara | ¢) Chand | d) Mirabai Chand Bardai
Bardai
72 Match List-I and List-II and select the correct answer by using the d
codes given below the lists:
A Chalukyas 1 Vanchi
B Pallavas i1 Madurai
C Pandya. ii1 Kanchipuram
D Chera iv Vatapi
a) A-i, B-ii, C- | b) A-ii, B-iii, | ¢) A-iii, B-iv, | d)A-iv, B-iii, | A-iv, B-iii, C-
iii, D-iv C-iv, D-i C-ii, D-i C-ii, D-1 ii, D-i
73 Which statement of the following are true?
a
A Mohammad bin Tughlaq transfer his capital from Delhi to
Daulatabad
B. Mohammad bin Tughlaq introduction of Token Currency in
India
C. Branding of horse (Dagh) system was introduced by
Mohammad bin Tughlaq
D. Jaunpur city was founded by Mohammad bin Tughlaq
a)A&B b)A,B&C c)C,D&A d)D,A&B a)A&B
74 In the following question, there are two statements in which one is b
statement A and the another is Reason B. Choose your answer from
the four-option given below-
A-Bahmani King Ahmad Shah transfer his capital from Gulbarga to
Bidar
B- He invaded Vijaynagar and forced Raya to concluded a treaty
with him.
a) If Aand B|b) If A and B |c)Aistrue but | d) A is false | If A and B are
are true and B | are true and B | B is false and B is true true and B is
is the correct |is the not the not correct
explanation of | correct explanation of
A explanation of A
A
75 Who was the founder of Varman dynasty of Kamrupa kingdom? c
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a) b) C) d) Pushyavarman
Bhutivarman | Bhaskaravarm | Pushyavarman | Samudravarma
an n
76 Who established famous Vikramshila University? a
a) Dharmapala ‘ b) Gopala ‘ c¢) Gopala II ‘ d) Devpala Dharmapala
77 Match List-I and List-II and select the correct answer by using the b
codes given below the lists:
A Dewan-i-Kohi 1 Department of Agriculture
B Dewan-i-Bandgan i1 Department of Military
C Dewan-i- Arz 1ii Department of correspondences
D Dewan-i-Risalat iv Department of Slave
a) A-iv, B-iii, | b) A-i, B-iv, C- | ¢) A-ii, B-iii, | d) A-i, B-iv, C- | A-i, B-iv, C-ii
C-ii & D-i i1 & D-iii C-iv & D-i iii & D-ii & D-iii
78 Which statement of the following are false? b
A. Al Masudi mentioned about the trade with India through eastern
sea route
B. According to Medhatithi, the child born after Pritiloma marriage
will belong to caste
of the mother.
C. Al Idrisi, the Arabian author divided the Indian society into seven
varnas
D. The Iron pillar of Dhar is famous for Metallurgy
a) only A | b) only B [c)A,B&C |d)B&D only B
79 In the following question, there are two statements in which one is a
statement A and the another is Reason B. Choose your answer from
the four-option given below-
A-Akbar was employed and patronized the musicals in his court
B-Akbar employed Baba Gopal Das, Swami Haridas and Tansen in
his court
a) [f Aand B|b) If A and B |c)Aistrue but | d) A is false | If A and B are
are true and B | are true and B | B is false and B is true true and B is
is the correct |is the not the correct
explanation of | correct explanation of
A explanation of A
A
80 Who wrote the Humayan Nama, the biographic of Humayun d
a) Abul Fazl b) Badauni c) Faizi d) Gulban | Gulban
Begum Begum
81 What was new taxes imposed by Alauddin khalji on the peasants? | a
a) house & |Db)saletax c¢) Irrigation & | d) salt tax house &
grazing tax canal tax grazing tax
82 Match List-I and List-II and select the correct answer by using the c

codes given below the lists:
A Somavamshis
B Gahadavalas.

C Paramaras

1 Chandradeva
11 Janamejaya |

i1 Shivakara Deva |
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D Bhaumakaras

iv Upendra Munja

a)A-1,B-ii,C-iii | b)A-ii,B-iii,C- | ¢) A-ii,B-1,C- | d)A-iii,B-iv, A-i1,B-1,C-iv
& D-iv iv &D-i iv & D-iii C-i & D-iv & D-iii
83 Which of the following statement was true about the primary aim of c
Alauddin Khalji’s agrarian reforms?
A Eliminate corruption from the revenue Department
B To oppressed peasants
C Aim to collect heavy tax
D Welfare of his subjects
a)onlyA& C |b)onlyA, B c)onlyA&D |d)onlyB,C& | onlyA&D
&C D
84 In the following question, there are two statements in which one is c
statement A and the another is Reason B. Choose your answer from
the four-option given below-
A-Mughal artists encouraged to use of Calligraphy in the painting.
B-Calligraphy painting was started from Jahangir reign onwards.
a) If Aand B|b) If A and B |c)Aistrue but | d) A is false | Ais true but B
are true and B | are true and B | B is false and B is true is false
is the correct |is the not
explanation of | correct
A explanation of
A
85 What do you mean by Sulh-i-kul? d
a) Name of|b)Name oftax | c) Revenue | d)Universal Universal
royal store of | on Agriculture | share with the | peace & peace | peace & peace
dress & | production king for all for all
ornaments of
king
86 What was the role Jagirdar in Mughal administration? Cc
a) Head of|b) Head of|c)Revenue d) Provincial | Revenue
Royal Military collection right | Governor collection
Kharkana Department given to nobles right given to
nobles
87 Match List-I and List-II and select the correct answer by using the b
codes given below the lists:
A Akbar i1 Alai Darwaza
B Jahangir i1 Shalimar Bagh
C Iltutmish ii1 Red-fort of Agra
D Alauddin Khilji iv Qutub minar
a) A-i, B-ii, C- | b) A-iii, B-ii, | ¢) A-iv, B-iii, | d) A-iii, B-iv, | A-iii, B-ii, C-
iii & D-iv C-iv & D-i C-ii & D-i C-1 & D-ii iv & D-i
88 Which of following statements is/ are false about the Shah Jahan’s b

architecture?

A Shah Jahan reign was considered as golden period of Mughal

architecture

B. Diwan-i-Aam & Diwan-i-khas in Red-fort of Agra was built

by Shah Jahan

C. Almost all features of Mughal architecture are found in Taj

Mabhal
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D. Red-fort of Agra was built by Shah Jahan

a)A&B [b)A,B&C |[¢)B&C | d)A,C&D A,B&C
89 In the following question, there are two statements in which one is c
statement A and the another is Reason B. Choose your answer from
the four-option given below-
A: Tracts of land was assigned to nobles called Iqta system
B: Aibak introduced the Iqta system for administrative convenience
a) If Aand B|b) If A and B [c)Aistrue but | d) A is false | Ais true but B
are true and B | are true and B | B is false and B is true is false
is the correct |is the not
explanation of | correct
A explanation of
A
90 The Mughal ruler, Aurangzeb was re-imposed Jaziya tax in the year: a
a) 1679 | b) 1689 | ¢) 1579 | d) 1589 1679
91 What is Sarai? d
a) An officer | b) An officer |c) A grant | d) Rest house | Rest house for
incharge of | incharge to | given to | for travelers travelers
Royal fixed market | brahmins for
Kharkana prices their
hereditary
right
92 Match List-I and List-II and select the correct answer by using the a
codes given below the lists:
A Chauth i1 Additional 10% tax levied upon the collected
‘Chauth’ by Marathas king
B Jaziya i1 Tax on war booty
C Khams 111 Tax on Non-muslim
D Sardeshmukhi iv 1/4" i.e. 25% tax levied by Marathas King
from hostile or alien state
a) A-iv, B- iii, | b) A-i, B-ii, C- | ¢) A-iii, B-iv, | d) A-iv, B-iii, | A-iv, B-iii, C-
C-ii & D-i iii & D-iv C-i & D-ii C-1 & D-ii il & D-i
93 Which of following statements is/are false about the Mansabdari b
system?
A. Mansabdari system was introduced by Akbar
B. Mansabdari was a system of ranking the government
officials in the Mughal administration
C. Zat is indication of the personal rank in the administration
D. Aurangzeb introduced Duh-Aspah-Sih-Aspah system in the
Mughal Mansabdari system
a) only A | b) only D |c0)A,B&D |d)C&D only D
94 Who built the Brihadesvara temple? b
a) Rajendra II ‘ b) Rajaraja [ ‘ c) Bhoja I ‘ d) Sindhuraja Rajaraja |
95 Which of the following gives administrative divisions of the Delhi a
Sultanate in the correct descending order?
a) Provin | b) Iqtas, c) Shigs, | d) Parganas, | Provinces,
ces, shigs, | parganas, parganas, shigs, villages | shigs,
parganas, shigs, villages | Kasbahs parganas,
villages villages
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96 From among the following statements regarding the tomb of Akbar, d
which ones are correct?
A The tomb is a multi-storied structure.
B. Jahangir completed its construction in 1614.
C. The first three stories are pillared.
D. The top floor is built of white marble.
E. The plinth of the tomb has similarity with the tomb of
Jahangir.
a) A,B & | b) A,B & |c) A,B & | d) A,B,C|A B, C&D
E only C only D only & D only only
97 The provinces of the Bahmani kingdom were known as: b
a) Subah b) Taraf or|c) Subah-i- | d) Taraf or Ataraf
Ataraf Laskar Mahamandala
98 The Mansabdars were allotted ‘mashrut’ in lieu of a
a) Conditional | b) Inam c¢)  Revenue | d) General | Conditional
rank collection expenditure rank
for war
animals
99 Which of the following statements are correct about c
Tarikh/Tawarikh during the Medieval period?
A. The Persian tradition was not influenced by monarchical
institutions.
B. This pattern was influenced by the chronicle of the Seljuq
Empire.
C. They were court chronicles.
D. Baburnama is not based on roznamcha (diaries).
E. They were commemorative venture that made
historiography focal to book writing.
a)A,B,Donly | b)A,D,Eonly [c)B,C,Eonly | d)B,D,Eonly | B,C, E only
100 | Match List I with List II and Choose the correct answer from the
options given below.
A. Death of Adil Shah 1. 1564 a
B. Death of Murtaza Nizam Shah 2. 1588
C. Four missions sent to Deccan by Akbar | 3. 1580
D. Marriage of Chand Biwi 4. 1591
a) A-3, B-2, b) A-1, B-4,|c)A-4,B-1,C-|d) A- 2, B-1, | A-3,B-2,
C-4,D-1 C-2,D-3 3,D-2 C-4,D-3 C-4,D-1
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Who among the following Bahmani rulers established a matrimonial
alliance with one of the rulers of Vijayanagar?

a) Ala-ud-din | b)
Bahman Shah | Shah

Ahmad | ¢) Mahmud
Shah I

d) Firuz Shah
Bahmani

Firuz Shah

Bahmani

102

With whose help did Malik Ambar, an Abyssinian, make it difficult
for the Mughals to consolidate their position in Berar, Balaghat and
Ahmednagar?

a) The | b)
Ottoman Turks | Portuguese

The | ¢)
Marathas

The | d)
Deccanis

The

The Marathas

103

With regard to condition of music during the reign of Aurangzeb,
which of the following statements are correct?

A. Fagirullah wrote musical treatise entitled Rag Darpan.

B. Zebunnisa, the daughter of Aurangzeb, was a renowned
patron of music.

C. Nagshbandi
Aurangzeb.

D. Muhammad Azam gave deadly blow to music.

E. Tavernier didn’t mention about music during reign of
Aurangzeb.

abandoned music during the reign of

a)A&Bonly [b) A, B & C

only

c) B, D& E
only

d) A, B &E
only

A & B only

104

In the question given below are two statements, labeled as Assertion
(A) and Reason (R). In the context of the two statements, which one
of the following is correct?

Assertion (A) — The Mughal administrative structure faced the
Jagirdari crisis during the closing years of
Aurangzeb’s reign.

Reason (R) — There were limited number of jagirs but unlimited
number of mansabdars, who were aspiring for jagirs.

a) Both A and
R are true and
R is the correct
explanation of
A

b) Both A and
R are true and
R is not the
correct

explanation of
A

c¢) A is true, but
R is false

d) A is false,
but R is true

Both A and R

are true and R

is the correct

explanation of
A

105

Match the following:

List I (Book)

List IT (Author)

the Mughals

A. Indian Paintings under

1. Ashok Kumar Das
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B. Architecture of Mughal

2. Moti Chandra

India d
C. The Technique of Mughal | 3. Percy Brown
Painting
D. Mughal Painting during | 4. Catherine B Asher
Jahangir’s Time
a) A- 2, B-1,|b) A- 3, B- 2, |c) A- 4, B- 2,|d) A- 3, B- 4, | A- 3, B- 4, C-
C-3,D-4 C-4,D-1 C-1,D-3 C-2,D-1 2,D-1
106 | Saranjam, a system of land grant to support military service, was a b
popular practice under which empire?
a) Vijaynagar | b) Maratha | ¢) Bahamani | d) Mughal | Maratha
Empire Empire Kingdom Empire Empire
107 | Which of the following styles is not a part of the conventionally b
categorised Indo-Islamic architecture?
a) Im |b) Eas | ¢) Mughal | d) Deccani Eastern Style
perial Style tern Style Style Style
108 | In the question given below are two statements, labeled as Assertion a
(A) and Reason (R). In the context of the two statements, which one
of the following is correct?
Assertion (A) — New schools of paintings emerged in the states of
Rajasthan and the Punjab hills.
Reason (R) — Aurangzeb’s lack of interest in painting led to
dispersal of the artists to different places of the
country.
a) Both A and | b) Both A and | c) Aistrue, but | d) A is false, | Both A and R
R are true and | R are true and | R is false. but R is true. are true and R
R is the correct | R is not the is the correct
explanation of | correct explanation of
A. explanation of A.
A.
109 | List I denotes the Mughal Gardens and List II denotes the Mugha

Emperors under whose reign the Gardens were built. Which of the
following is not correctly matched?

List I List 1T
A. Malguzar 1. Hereditary Muslim
B. Mufti 2.Local Muslim Association
C.Anjuman law 3. Muslim learned person
expert in religious matters
D.Khanazad 4. Land holding primary
zamindar
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b) A- 3, B- 4,
C-1,D-2

d) A- 1, B- 3,
C-2,D-4

110

The Muhtasibs during the Mughal period acted as:

a) The chief | b) The censors
Judicial of public
officials morals

c¢) The chief
recruiting
officers of
soldiers

d) All of the
above

The censors of
public morals

111

Which of the following was not one of the ways in which the peasant
discontent manifested itself in the later part of the 17" and 18"
centuries?

a)There were | b) There were | c)
instances of [ a series of | peasants
peasants uprisings formed roving
leaving the bands of
land to avoid robbers  and
paying taxes adventures

Ruined | d) A large
number of
peasants sold
themselves
into slavery in
order to pay
the state dues

A large
number of
peasants sold
themselves
into slavery in
order to pay
the state dues

112

Which of the following statements are correct about Zenana System
of the Mughal period?

A It was a practice of secluding women in a separate area of
the home.

B. Women were supposed to conceal their faces or wear veils
while with men who were not family members.

C. The term "Zenana" comes from the Arabic language and
means “a place for women”.

D. Women were only permitted to study fundamental domestic
skills like cooking, cleaning, and stitching.

E. A male relative had to be present if woman interacted with
male strangers, even male family members.

a

a)A, B & D
only

b) A, D & E
only

c)B, C & E
only

dB, D & E
only

A, B & D only

113

In the question given below are two statements, labeled as Assertion
(A) and Reason (R). In the context of the two statements, which one
of the following is correct?

Assertion (A) — A major characteristic feature of Mughal India was
the slow increase or near stagnation in agricultural production.
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Reason (R) — The rural landless and poor had neither the capital nor
the organization need for setting new villages or marking barren
lands cultivable.

a) Both A and | b)Both A and | c)A is true, but | d)A is false, | Both A and R
R are true and | R are true and | R is false but R is true are true and R
R is the correct | R is not the is not the
explanation of | correct correct
A explanation of explanation of
A A
114 | Pargana was C
a) a tax b) a group of | ¢) an | d) a cluster of an
people administrative | trees administrative
unit unit
115 | Robert Clive satisfied himself with only Diwani rights because: C
1. He had a lot of respect for the Mughal Emperor
2. He had not in a position to oust the Mughal emperor
3. The company lacked in trained personnel to carry out the
task of administration
4. The company was afraid of rousing the jealously of other
European powers holding possessions in India
5. The company could not assume direct rule as it would have
been contrary to English law of the time.
a) 1,2 and 3 ‘b)2,3and4 ‘c) 3,4and 5 ‘d)l,ZandS 3,4and 5
116 | Assertion (A): Assessment forever was the central point in the B
Permanent Settlement of Bengal introduced in 1793.
Reason (R): Cornwallis believed that the zamindars will develop
their lands.
Codes
@) Both A and R are true, but R is not the correct explanation of
A.
(b) Both A and R are true and R is the correct explanation of A.
(©) A'is true, but R is false.
(d) Ais false, but R is true.
a) A b) B c) C d D Both A and R
are true and R
is the correct
explanation of
A.
117 | The Doctrine of Lapse was A
a) An | b) a taxation | ¢) a doctrine of | d) rules and | An annexation
annexation policy created | rules for | regulations for | policy devised
policy devised | by Lord Minto | peasant trade by Lord
by Lord Dalhousie
Dalhousie
118 | Who introduced the Doctrine of Subsidiary Alliance? B
a) Lord | b)  Marques | ¢) Lord Minto | d) Edwin Marques
Mountbatten Wellesley Montagu Wellesley
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119

Match List-I with List-II and select the correct answer using the
code given below the lists:

List -I (Year) List — IT (Event)

1775 i First Anglo-Burmese War

A
B 1780 ii First Anglo-Afghan War
C 1824 iii First Anglo-Maratha War

D 1838 iv Second Anglo-Mysore War

Code :
(@) (b) (c) (d)
(A)
(B)
(©)
(D)

W WA B
A B~ W W
N = =N
— NN —

a) A b) B ¢ C d D

34 1 2

120

Which two are the most intriguing statements?

1. Those parts of India Which had been longest under the
British rule are the poorest today if one consider the conditions of
the masses.

2. The mass level and standard of living highest in the Punjab.
3. Indian merchants supported the British traders.

4. The British were able to seek trading concessions from the
Mughal rulers and other Indian Nawabs and kings.

a)only 1 and 2 | b) only 1,2 and | c) all the four | d) only2and4
4

only 1 and 2

121

Assertion (A): The English introduced Western Education in India.

Reason (R): They wanted to make Indians aware of scientific and
national advancement.

Codes

@ Both A and R are true, but R is not the correct explanation of
A

(b) Both A and R are true and R is the correct explanation of A.
(© Ais true, but R is false.
(d) A'is false, but R is true.

C

a) A b) B ¢ C d D

Ais true, but R
is false.

122

Bhoodan literally means -

B

a) land tax b) land gift c) revenue tax | d) trade tax

land gift

123

Which of following is known as Colonel Clive’s Jackal?

C

a) Amir Chand | b) Manik | ¢) Mir Jafar d) Jagat Seth
Chand

Mir Jafar

124

Match List-I with List-II and select the correct answer using the
code given below the lists:

List -1 List -11

A
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A Andrew Frazer 1 Famine Commission
B Antony MacDonell il Irrigation Commission
C Colin Scott Moncrieff iii Police Commission

D Thomas Robertson iv Railway Commission

Codes :

(a) (b) (c) (d)

A 3 1 2 4

B. 3 2 1 4

C. 1 3 2 4

D. 1 3 4 2

a) A b) B c) C d D A.3124

125 | The statement “I am a socialist and a republican and no believer D

Kings and Princes” is associated with:

A Narendra Dev

B Achyut Patwardhan

C Jai Prakash Narayan

D Jawahar Lal Nahru

a) A b) B c) C d D Jawahar Lal

Nehru
126 | Assertion (A) : The British introduced different land revenue tenures D

in different parts of India.

Reason (R) : It led to the impoverishment of Indian peasantry.

Codes

@ Both A and R are true, but R is not the correct explanation of

A.

(b) A'is correct, but R is incorrect.

(©) A and R are incorrect.

(d) Both A and R is the correct and R is the correct explanation

of A.

a) A b) B c) C d) D Both A and R
is the correct
and R is the

correct
explanation of
A.
127 | Panchsheel means - A
a) five virtues | b) five rivers c) five senses |d) five-year | five virtues
plan
128 | “Kings are made for Public ; Public is not made for the King” Who C
among the following made this statement during the National

Movement?

A Surendra Nath Banerjee

B R.C. Dutt

C Dadabhai Naoroji

D Gokhale

a) A b) B C) C d) D Dadabhai

Naoroji
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129 | The only major industry in the hands of the Indian capitalists during D
the late 19™ century was -
a) Jute b) Mining c) Iron and |d) Cotton | Cotton textile
steel textile
130 | The ruin of most of the old zamindars in Bengal, during the first few C
decades of the British rule, was due to -
a) the dual | b)the abolition | c) auctioning | d) the great | auctioning the
government of dual | the rights of | famine of 1770 rights of
government revenue revenue
collection to collection to
the highest the highest
bidders bidders
131 | With reference to the British colonial rule in India, consider the B
following statements:
1. Mahatma Gandhi was instrumental in the abolition of the
system of ‘indentured labour’
2. In Lord Chelmsford’s ‘War Conference’, Mahatma Gandhi
did not support the resolution on recruiting Indians for World War.
3. Consequent upon the breaking of Salt Law by Indian people,
the Indian National Congress was declared illegal by the colonial
rulers.
Which of the statements given above are correct?
a)land 2 only | b) 1 and 3 only | ¢) 2 and 3 only | d) 1,2 and 3 1 and 3 only
132 | When did the company lose its monopoly of Indian trade, which was A
thrown open to all Britons?
a) 1813 b) 1833 c) 1853 d) 1793 1813
133 | Which Mughal king gave Royal Farman to the East India Company c
a) Jahangir b) Shahjahan | ¢) Arungzeb d) Bahadhur | Arungzeb
Shah
134 | In which place the Gandhi-Irwin Pact was signed c
a) Lahore ‘ b) London ‘ c¢) Delhi ‘ d) Kolkata Delhi
135 | Mahatma Gandhi involved Indian masses during India’s struggle for c
independence
A: Assertion: It was part of his political strategy
B: Justification: He believed in power and strength of common
masses.
a) A is false b) BothA& B | c)BothA& B | d)Aistruebut | BothA & B
but B is true are true but B | are true B is not are true
is not correct correct
explanation of explanation of
A A
136 | Which is the correct matching pairs: b
A. Syed Ahmed Khan. 1. Hindu Mahasabha
B. Muhamed Ali Jinnah. i1. Aligarh movement
C. Lal Lajpat Rai. iii. Muslim League
D. Madan Mohan Malaviya. 1v. Revolutionary
a) A-iii, B-1i, | b) A-ii, B-iii, | c¢) A-iii, B-1v, | d) A-i, B-iv, A-ii, B-iii, C-
C-1& D-iv C-iv & D-i C-ii & D-i C- il & D-ii iv & D-i
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137 | Which of the following was not part of programme during Non- d
Cooperation Movement?
A. Boycott of foreign goods
B. Charka and Spring
C. Surrender of honours and titles
D. Boycott British Laws
a)A b) B c)C d)D Boycott
British Laws
138 | Which of the India revolutionary leader was part formation of b
Provisional Government in Kabul during the First World War?
a) Bal b) Raja c¢) Aurobindo | d) Khudiram | Raja
Gangdhar Mahendra Ghosh Boss Mahendra
Tilak Pratap Pratap
139 | Match the pairs c
A. Jawaharlal Nehru. 1. Ghana
B. Nasser. ii. India
C. Sukarno. iii. Egypt
D. Kwame Nkrumabh. iv. Indonesia
a) A-ii, B-i, C- | b) A-ii, B-iii, | ¢) A-ii, B-iii, d) A-ii, B-iv, A-ii, B-iii, C-
iii & D-iv C-i & D-iv C-iv &D-i C-iv & D-i iv &D-i
140 | Who prepared the Constitution of India? d
a) Viceroy b) B.R c¢) The British | d) The The
Lord Ambedkar Parliament Constituent Constituent
Mountbatten Assembly Assembly
141 | Agreement on Trade and Intercourse between the Tibet Region of d
China and India was signed on April 29, 1954.
A. Assertion: Panchsheel was enunciated in this agreement.
B. Justification: Panchsheel means five principle of peaceful
coexistence
a) A is false B | b)Aistrue Bis | c) Both A and | d) Both A and | Both A and B
is true false B are false B are true are true
142 | Which part of India was declared as the first Indian territory to be | d
freed from the British rule in 1943 by Subhas Chandra Bose
a) West Bengal | b) Manipur c¢) Kohima d) Andaman & | Andaman &
Nicobar Nicobar
Islands Islands
143 | Who represented the British during Simla Simla Conference 1913- c
14
a) Charles Bell | b) Lord Irwin | ¢) Henry | d) Henry | Henry
McMahon MacMohon McMahon
144 | Which is not a objective of the United Nations d
a) To ensure | b) Develop | ¢) Ensure | d) Entourage | Entourage
peace in the | friendly human dignity | treaty among | treaty among
world relations the nations the nations
among the
nations
145 | Fill in the blank with appropriate word from the options given c

below.

First World War ended with
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a) Defeat of | b) Treaty of c) Paris Peace | d) Defeat of c) Paris Peace
Germany Versdailles Conference Ottoman Conference
Empire
146 | Fill in the blank with appropriate word from the options given c
below.
During the French Revolution of 1979, the peasants, who were in
despair due to hunger and poverty, plundered the granaries and
distributed among themselves
a) Rice | b) Bread | ¢) Corn | d. Money Corn
147 | Which of the following statements best described the Allied d
declaration of their military goal in early 1942
a) defeat of | b) Invasion of | c) d) defeat of | d) defeat of
Japan the Soviet | development | Germany Germany
Union of atomic
bomb
148 | Who was reigning Kind of England during Glorious Revolution? a
a) James II b) William and | c¢) Charles I d. None James 11
Mary
149 | A Sufi saint, who is considered to be the first poet of Punjabi a
literature and whose compositions are incorporated in the Adi
Granth, was:
a) Baba Farid | b) Shaikh | ¢) Amir | d) Mir Abdul | Baba Farid
Nizam-ud-din | Khusrau Wahid
Auliya
150 | The Congress Ministry resigned in November 1939 because of c
which of the following reason?
a) The was rift | b) British did | c) British d) The Viceroy | British
between not gave Government made undue Government
rightists and assurance to made Indiaa | interferences made India a
leftists grant party to the in there party to the
congress independence | war against functioning of | war against
to India after | Germany the Ministry Germany
World war II without without
consent of the consent of the
Congress Congress
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